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In the figure, ABCD is a square.

Arcs AC and BD are drawn with centres
D and C respectively, intersecting at O.
Arc A0 :ArcOC=s5:2,5s=7
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R+R'"+R*+...=2 find R.
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X+ -2x-2y—18=0.
A1is (3,5) and Bis (-1, —p).
If ABis a diameter of the circle, p =?
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Given f(x) = 2x° + ax + 2 has a double
root, where a > 0, find the value of a.
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If 1234, = 194, find x.
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The rent of a flat is raised by 30% every
two years beginning from a fixed date.
Counting from that date, after how
many years will the rent just exceed twice
the original rent?

A straight line y = p (p > 0) intersects the

curve y=x"—4x +p + 2l at 4 (a, p) and
aB

B(B, p), find the value of 3
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A B
ABCD is a semicircle,

AB : BD =4 : 3. Find AB correct 8

to the nearest integer. =

If P is a positive interger less than 10,
12345678 x P+ P = AAAAAAAAA.
Find P.
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How many terms are there in “-5, -2, 1,
4,...,22”7
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A+2x)*'A-x)=... —nx’+ ...

Find the value of n.
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If y o« x, when x = 32, y = 96. When x = 4,
y=1
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Refer to the diagram, find the height of
PO.
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There are (x — 3) $2 coins and x $5 coins
in a bag, and the total value of coins

> $100. AT LEAST how many $5 coins
are there?
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(C+ B)x A =680
(B+ A)x C=756 Find A.
(A+C)x B=1722
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If +\/i}=5, ﬁnd(x+% —(Fe \/i;c).

The product of 4 prime numbers is 1254.
Find the largest one.
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Point P is moving from A to B with
speed 2 cm/s. Point Q is moving from
C to D with speed 3 cm/s. P and Q
start moving at the same time. Find the
time that the ratio of the areas between
APQD and BPQCis5:7.
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50 cm
N 20
K%

X, y, z are 3 consecutive positive odd
numbers.
If ¥+’ +22=155find x + y + z.
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To the nearest integer,

1 N 1 )=
2007 + 42008 ' 2008 + 12009
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ABCDEFGH is a cube of side 3 cm. A
tetrahedron DACH is cut away along
the plane ACH. Find the volume of the
remaining solid correct to the nearest

integer.
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If 3x -2y =x + 3y,
then x’:y =k :4,k=?
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Seven equally spaced positive integers
have a sum of 203. If # is the smallest
number among them, determine the
largest possible 7.
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Karen is twice as old as Lori. Three years
from now, the sum of their ages will be
42. How old is Karen in three years?

27

JRIBAEH — =

Givenn’=1+3+5+ ...+ 55, find .

238

JRIBAHI= PI=

I row: 1;

2" row: 3 5;

3 row: 7 9 11;

k™ row: ... 853 ..., find k.
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Four people 4, B, C and D, in increasing
order of their weight. The following
table shows the weight of the two-person
group.

Find the weight of D correct to the
nearest integer.

3539 (44 [45 (50 | 54
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If Dn = bac ,where a, b and ¢ are 3
n=1
consecutive digits that a < b < c.

Findk+a+ b-c.
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